Inorganic Chemistry 1
CHEMICAL BONDING
LEWIS STRUCTURES (More than One Central Atom)

Problem-solving Examples 10 (More than One Central Atom)

Write a Lewis structure for methanol, CH,0 (used as a gasoline alternative in car
engines)

Solution
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- H afoms can have onj e bomd , S0 C and O
must be qu;.oenf Yo each ofher .
-~ C can have 4 bonds :
| I . _c=

le- —c,:— s =, =C=0

- O can have 2 bonds

ie —0- , O=
_ The skelefor Sfrachure wil] be

H
|
H—cCc—o—H
‘.
H
No . o{‘ valence s = [4x H(le
’:(4- +4 + G)e"
= 142~

! A _(14-0)C = g4e”
Shep 3 ¢ PBalance s = 14 - 5(22°) =4 -(0)

-):I + [l xC (_4¢’)]+ E '<°(“')]
S'+7) 3.5

Aive single

bmds"?
octet (86‘) 3 Y afom Chares
J’o '7‘A¢ rema,«‘n/'y ﬁur
rs oh 0 Q‘/Dm

3*5’04 - C afom 4/r¢qﬁ

'ﬁoo electons 0’"74' C-
- Sovrn TRO /cu/o.u

e ——
School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1



Prepared by
V. P anoboran

vmano@usm.my
manovv1955@yahoo.com
04-6533888 ext 3566

School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1


mailto:vmano@usm.my
mailto:manovv1955@yahoo.com

